Virginia High School League

Scholastic Bowl, 2001-02 season

Intramural Competition, Match #1

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the Intramural or Junior Varsity level. Shawn Pickrell, Adam Fine, Bryce Avery and Andy Goss are the authors of these questions.

If individual Schools use these questions to conduct Scholastic Bowl practices or to hold Intramural competition, they must not release these questions to entities outside the school, as some Districts are using these questions as Junior Varsity-level packets.

If individual Districts use these questions to conduct a Junior Varsity Scholastic Bowl competition, they must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
There are three pegs and several disks of varying size on one peg so that the largest is on the bottom. The disks are to be moved from the first peg to the third peg. Only one disk can be moved at a time, and you cannot put a larger peg on top of a smaller peg. What is this mathematical problem named for an Asian city?

ANSWER: TOWER OF HANOI
2.
What is the name given to the concept within relativity where time seems to move more slowly for someone moving at a very high rate of speed as opposed to someone who is remaining stationary?

ANSWER: time DILATION
3. 
The Bennet family and their five daughters are the central characters of what novel by Jane Austen?

ANSWER: PRIDE AND PREJUDICE
4.
In order to alleviate the insomnia of Count von Keyserling, he wrote the “Goldberg Variations” for a friend.  Name this German Baroque composer who also created “The Well-Tempered Clavier” and the “Mass in B Minor.”

ANSWER:  Johann Sebastian BACH
5.
What was the 1917 message sent from and named for the German foreign minister to his ambassador in Mexico proposing that Germany and Mexico ally against the United States?

ANSWER: ZIMMERMANN NOTE
6.
What was the name given to the 1973 war between the Arabs and the Israelis, a name given because the Arabs started the war on the holiest day of the Jewish calendar?

ANSWER: YOM KIPPUR

7.
Its $294.8 million jackpot in August was the third-biggest jackpot in US lottery history. What is this multi-state game where several state combined their lotto games?

ANSWER: POWERBALL
8.
THIS IS A COMPUTATION QUESTION. An army lost 25% of their men in the last battle and now has 22,500 men. How many soldiers were at the start of the last battle?

ANSWER: 30,000
9.
What nine-letter adjective comes from the Latin word for body and means very fat or obese?

ANSWER: CORPULENT
10.
First discovered by a French physicist in 1787, what law states that the volume of a given mass of gas at a constant pressure is directly proportional to its absolute temperature?

ANSWER: CHARLES’S Law

11.
Carbonate operates at a pH of 6-8; ammonia at 9-10; and acetate at 4-5.  In chemistry, what name is given to a mixture of compounds chosen to maintain a steady pH, or in politics a small state lying between two belligerent states in order to minimize tension?

ANSWER: BUFFER
12.
THIS IS A COMPUTATION QUESTION. On an average day a high school has 1152 students present. Assuming a 4% absenteeism rate, how many students attend the high school?

ANSWER: 1200 students

13.
Esther Greenwood is the protagonist of this novel which deals with a woman who suffers through life and a mental breakdown. What is this novel, published one month before the suicide of its author, Sylvia Plath?

ANSWER: The BELL-JAR
14. 
In Hindu mythology, who is the goddess of destruction and death, the wife of Shiva and subject of worship by the bad guys in “Indiana Jones and the Temple of Doom?”

ANSWER: KALI

15.
According to Marxist theory, what term is used to describe the oppressed lower classes that will inevitably revolt and overthrow the bourgeoisie?

ANSWER: PROLETARIAT
Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.
1A.
Apollo Creed was a nemesis and later friend of what famous fictional boxer?

ANSWER: ROCKY BALBOA (prompt on Rocky)

1B.
What short story by Joseph Conrad is about Marlow's journey into Africa to meet Mr Kurtz?

ANSWER: HEART OF DARKNESS
2A.
The Hueguenots were Protestants living in what country until their massacre in the 16th century? 

ANSWER: FRANCE
2B.
What is the name of a program that is installed on the hard drive that interacts with a recently-installed device and the operating system?

ANSWER: DRIVER

3A. 
THIS IS A COMPUTATION QUESTION. What is the area of an isosceles triangle with a base of 6 and legs of 8?

ANSWER: 3 SQUARE ROOTS OF 55
3B. 
Dolphins, whales, and bats use what method to detect the positions of objects by using a stream of high-pitched sounds and waiting for a response?

ANSWER: ECHOLOCATION
4A.
He falls in love with Julia, is betrayed by the Thought Police, but comes around to love Big Brother in the end. Who is this protagonist of 1984?

ANSWER: WINSTON SMITH

4B. 
In Judaism, all kohanim (ko-ha-NEEM), or high priests, are descended from what man, who was married to Elisheba, made the Golden Calf, and was Moses’s brother?

ANSWER: AARON
5A.
Who is the Russian chemist most associated with the creation of the periodic table?

ANSWER: Dmitri MENDELEEV
5B. 
On what day in 1865 did Robert E. Lee surrender to Ulysses S. Grant?

ANSWER: APRIL 9, 1865

6A. 
Maurice Ravel’s “La Valse” paid tribute to which composer of “Tales From the Vienna Woods” and “The Blue Danube,” known as the Viennese Waltz King?

ANSWER:  Johann STRAUSS Junior

6B. 
Bartleby the Scrivener, Billy Budd, Omoo and Moby Dick are all written by what American author?

ANSWER: Herman MELVILLE
7A. 
What Babylonian king is best known for the giant pillar on which was carved his Code of Laws?

ANSWER: HAMMURABI

7B. 
One milligram can be divided into one thousand of what smaller units of measure?

ANSWER: MICROGRAM

8A. 
How many sides are on a regular icosahedron?

ANSWER: 20

8B. 
What type of ions have a negative charge?

ANSWER: ANION
9A. 
Who wrote the essay "Civil Disobedience?"

ANSWER: Henry David THOREAU
9B. 
Charles Oakley and Vince Carter are both members of what NBA team? 

ANSWER: TORONTO RAPTORS
10A. 
To the nearest tenth, what is the acceleration per second squared with respect to the Earth's gravity?

ANSWER: 9.8 meters per second squared

10B. 
On September 10, 1813, Oliver Hazard Perry won a naval battle named for what Great Lake?

ANSWER: Battle of LAKE ERIE

Third period: 15 tossups
1. 
What property of an ellipse is equal to the distance between the foci divided by the distance between the endpoints along the long axis, and approaches 1 the more circular the ellipse gets?

ANSWER: ECCENTRICITY
2. 
This poem by Alfred Lord Tennyson describes the suicidal charge of 600 soldiers towards Russian cannon emplacements at the battle of Balaklava in 1854. What is this poem where the solders charged into the "valley of death" with "cannot to the left of them, and cannon to the right of them?"

ANSWER: The CHARGE OF THE LIGHT BRIGADE
3.  
The term was first used in 1919 to describe certain paintings by Kandinsky, but American critic Robert Coates in 1946 applied what name to non-geometric, nonrepresentational works by Willem de Kooning and Jackson Pollock?

ANSWER:  ABSTRACT EXPRESSIONISM  

4. 
Whose marriage united the houses of Castile and Aragon, creating the modern Kingdom of Spain?

ANSWER: FERDINAND of Aragon and ISABELLA of Castile

5.  
Formed on a coral-reef platform, they are flat, small, and low-lying.  What type of island is most commonly found in the Gulf of Mexico, examples including Largo and West?

ANSWER: KEYS
6. 
A portrait of his friend, the courtier Juan de Fonseca, was spotted by King Philip IV, who made this man court painter the rest of his life.  Who was this Spanish artist who also painted portraits of Pope Innocent X and Las Meninas?

ANSWER: Diego VELAZQUEZ
7. 
THIS IS A COMPUTATION QUESTION. Take a hexagon. Two of its angles are 150 degrees. The other four angles are equal. What is the measure in degrees of the other four angles?

ANSWER: 105 degrees

8. 
What nine-letter adjective starting with "o" comes from the Latin word for "to forget" and means lacking all memory, forgetful or unmindful?

ANSWER: OBLIVIOUS
9.
In single-celled animals, they are the sites of digestion of engulfed food particles.  However, sap is usually contained in what fluid-filled membrane bound cavity inside a plant cell, occupying a good portion of its area?

ANSWER: VACUOLE
10.
What word is used to describe the gradual improvement in US-Soviet relations during the 1970s, signified by arms agreements, the Helsinki Accords and trade agreements?

ANSWER: DETENTE
11.
Its discovery allowed the Japanese to send gas-filled balloons carrying bombs to the northwestern United States during World War II.  What narrow band of very fast wind in the upper troposphere may be used by high-flying aircraft to speed up their journeys?

ANSWER: JET STREAM

12. 
Laura and Amanda Wingfield are two of the central characters of what Tennessee Williams play named for the small glass figurines that Laura collects?

ANSWER: The GLASS MENAGERIE
13. 
The UN War Crimes tribunal in the Hague is going to file charges against what former Yugoslav President?

ANSWER: Slobodan MILOSEVIC
14. 
What animal is used to describe a stock market or economy that is headed in a downwards spiral?

ANSWER: BEAR

15. 
THIS IS A COMPUTATION QUESTION. What is the next number in the series 5, 25, 125 and 625?

ANSWER: 3,125

SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.

How many nominative pronouns exist in the English language?

ANSWER: SEVEN (I, you, he, she, it, we, they)

What state is known as the Buckeye State, with a capital at Columbus?

ANSWER: OHIO

What is the derivative with respect to X of the function f(x) = e to the sin(x)? (f of x equals e to the sine of x)

ANSWER: COS(X) TIMES E TO THE SINE OF X
Who is the California Democrat that has been questioned since the disappearance of Washington intern Chandra Levy for his possible knowledge or involvement?

ANSWER: Gary CONDIT
James Watson and Francis Crick won the Nobel Prize for discovering the double helical structure of what molecule?

ANSWER: DNA (accept an early buzz of Double Helix)

All questions © 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.


